THRISEE

A L T LK
e BEES — COD¥EE! | A(##BIA) ML TEE(ZDMDXE)
) St.1 ER-BER T (@A) AR E RS EE (=)
—HRI5H _
K& (°C)

1 X | SUE (°C) =B fE 2 KE A Fiin =Xz R
58| EUBEAM | 238 26.1 - 15.0 8.0 BE Shkfa-h| ER
7B|2vescmEn| 248 24.2 - 14.5 2.5 BE R - mR
9A N 29.3 28.9 — 14.5 10.5 BE Exfa-h| &R
118 Eh 21.5 21.9 — 14.5 6.0 BE xf-h mR
18 Eh 16.0 14.7 — 14.0 6.0 BE xf-h mR
3l =Y 7.7 11.0 - 16.0 45 B E f&fh - o BE

4FRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEME| 78~83| 75LLF | 20LLF | 1000LIF | JEieth 03LLF | 0.03LLF
B (75%IE) - 8.0 1.8(2.3) - <0.5 0.16 0.015
585 == 8.2 7.7 2.0 = <0.5 0.12 0.008
hE - - - - - - -
78 =B 8.3 7.7 1.4 - <0.5 0.17 0.019
8.3 6.8 2.3 - <0.5 - -
oA hE - - - - - - -
18 =B 8.0 7.9 1.2 - <0.5 0.15 0.015
hE - - - - - - -
18 =B 8.1 8.6 2.3 - <0.5 0.19 0.016
8.1 9.0 15 - <0.5 - -
38 E = = = — = — —
BEEE (REBDHEHA)
NP INIESDY & ED Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 0018LTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18] - - - - - - - -
38 - - - - - - - -
ooyoni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
"y &R IAY IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18] - - - - - - - -
38 - - - - - - - -




TEIORRILETE #osa | vy | TAY | moby | bl [MRERERS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| FE#EfE] 0.01LLF (000200 F [ 0.006LLF [ 0.003LLF [ 002ELF [ 001LLF | 001LLF [ 10LF
EF_EjE — — — — — — — —
sA[ - - - - - - - -
Al - - - - - - - -
0B - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - — - - - —
ZTNDIZHE
IT/— i SS LW | yOOkILA Tﬁ’_‘_’r,ﬁp
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHME - - 1 - - -
T - - < - - -
—_ —_ 3 —_ —_ —_
7H ;E _ _ _ — - -
—_ —_ <1 —_ —_ —_
—_ —_ <1 —_ —_ —_
—_ —_ <1 —_ —_ —_
Gl - - ! - - -
Ry Y | . e
(mg/1) (mg/1) (mg/1)
EBIE] 18000 - 0.01
5 EYE] 18000 - <0.01
18000 - 0.01
17000 - -
17000 - 0.01
118 - - = &
A EYE] 17000 - 0.01
=8 - :
18000 - -
Gl 0 - -




THISEE

BA L CILHKE
e EREEE — CODEHR |B(H#H) ML TEECGEREBR)
" St.2 EXR-MEY W (e A) REKEREESE (D)
—i%IEH _
K& (°C)

X SR (°C) =E fE 2 KE A Fiin 18 B&
5Bl EVes4Am | 26.2 27.1 27.2 75 2.5 BE kef-h| &|S
7B|2ve4En| 256 25.7 25.2 5.5 2.0 BE EEf-h| &R
94 Eh 30.4 295 29.1 11.5 4.0 BE FER-f |
118 Fh 19.7 222 22.1 13.0 45 BE Bz - mR
18 Eh 14.7 13.9 13.8 13.5 9.0 BE - |
3l =Y 7.9 11.5 11.0 145 5.0 B E f&fh - o BE

4RIRIRIBER _ _
oH DO CcOoD KIBEERY In-~FHof 22% Ey

(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)

#1E] 7.8~8.3| 5.0L 30LLF - 0.6L 0.05L

E- 3 LLE L4 FEiRH UTF | 0.05LF |

EHE(75%E) — 6.9 2.0(2.2) — <0.5 0.43 0.041

585 =B 8.2 7.8 3.4 - <0.5 0.39 0.039
B 8.2 8.4 2.4 - - - -

785 =B 8.2 6.5 2.6 - <0.5 0.55 0.058

B 8.2 6.8 2.2 - - - -

oF =B 8.3 6.5 1.6 - <0.5 - -

B 8.2 6.2 1.6 - - - -

18 =B 7.9 7.3 1.6 - <0.5 0.32 0.032
dh B 7.9 75 2.1 - - - -
18 =B 8.1 6.8 1.9 - <0.5 0.45 0.034
B 8.1 7.9 15 - - - -
35 =B 8.1 5.7 1.3 - <0.5 - -
B 8.1 5.0 1.8 - - - -
BEEB (REBDHEHHR)
LININIES P E ANlo0OL TS fikER |7L¥LKEE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 001LLTF | JE#H | 001LLF [ 0.05LLF | 0.01LLF [0.0005LLF | JEHH JERRH |
E{E]  <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 0.1 <0.005 <0.02 0.001 <0.0005 - -
94 - - - - - - - -
118 - - - - - - - -
18] <0.002 0.1 <0.005 <0.02 0.001 <0.0005 - -
38 - - - - - - - -
ooanid | mige [1,2->o00] 1,1-CHan [Lx-12-C4|1,1,1-k)HA] 112-ky4a | MO0
sy B THY IFLy | BAIFLY | OIAY nxsy | TFLY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)

| E#{E] 0.02LLF [0.0021F | 0.004LLTF | 0.02LLF | 0.04LLF 1LUF 0.006LLF | 0.03LL'F

EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




FhS5490nm(1,3-o450 = St FARY oo, a8 . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 001LLF (000281 F | 0.006LLF | 0.003LLF | 002BLF | 001 F | 001LLF 10LLF
E{E]  <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.27
58 = = = = = = = =
78| <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.30
9A - - - - - - - -
118 — — — — — — — —
18] <o0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.23
38 = = = = = = = =
ZTNDIEH
RV L
Jx/—) R SS 2% |(snakiLh 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE - = 2 = = =
=B - - 2 - - -
5ﬁ ;E _ _ 2 — — —
—_ —_ 3 —_ —_ —_
—_ —_ 3 —_ —_ —_
=E - - 2 - - -
1
—_ —_ <1 —_ —_ —_
A Tem [ - X - - -
=E - - 2 - - -
3
Bt | BERE |,,. .
(mg/1) (mg/1) (mg/1)
SEITE|_ 17000 0.03 0.03
585 == 18000 - 0.01
B 18000 - -
78 == 14000 0.02 0.05
B 16000 - -
oF =B 17000 - -
B 17000 - -
1A == 17000 — 0.03
B 18000 - -
18 == 17000 0.03 0.03
B 17000 - -
35 =B 17000 - -
B 17000 - -



THISEE

A L C LK
e BEES — COD#EE! [A(E#EH) ML TEE(ZOMDXE)
" St.3 EX-HEY I (EER) KEKEREESE (D)
—iRIEE _
KB (°C)

x | 5B (°C) =B fE 2IKR A Fiin R=Ei:] R
5A| E2vEE4am ]| 252 26.5 26.5 14.5 4.0 BE xf-h mR
78| 2vesamEn| 253 24.3 24.0 12.5 2.0 BE R - mR
9A N 29.0 30.0 29.0 13.5 7.0 BE xf-h mR
118 gEh 20.8 21.8 21.8 13.0 5.0 BE xf-h mR
18 Eh 14.7 13.7 13.5 9.5 >9.5 BE xf-h mR
3gl =Y 7.9 111 110 150 4.0 BE frfa-ch | WS

4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)

=%lE] 1.8~83] 715LLE | 20LLF | 1000LLF | FEiRH 0.6LLF_| 0.05LLF

THE(75%IE) - 7.2 1.7(2.0) 0.0 <0.5 0.19 0.025

585 == 8.2 8.3 1.9 = <0.5 0.16 0.019
th & 8.2 8.1 2.0 - - - -

785 =B 8.2 7.7 1.4 0.0 <0.5 0.16 0.025
th & 8.3 7.9 1.1 - - - -

oF =B 8.3 6.0 2.0 - <0.5 0.12 0.016
th & 8.3 6.2 1.4 - - - -

18 =B 7.9 7.6 1.3 - <0.5 0.17 0.023
th & 7.9 7.7 15 - - - -

18 =B 8.1 7.3 1.3 0.0 <0.5 0.25 0.027
th & 8.1 7.9 15 - - - -

35 =B 8.1 5.6 2.0 - <0.5 0.25 0.037
B 8.1 5.7 2.5 - - - -

BEEE (REBDHEHA)

NP INIES DS ED Aol IS Mk |(7rxLKkiB| PCB

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)

| E#(E] 001LLTF | JE#H | 0018 F | 005LLF | 001LLF [0.0005LLF | JERH JERRH |
EfE]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
ooroni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | F)S0A
sy B THY IFLy | BAIFLY | OIAY nxsy | TFLY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)

| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF

EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Th3H0a|1,3-S4H0 = [N FARY Sr 45 . WREERRU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| H ] 0.01LLF 000280 F [ 0.006LLF | 0.0038LF [ 0.02BLF [ 0.01LLF | 001LLF | 10BF
F#fE] <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.10
58 - - - - - - - -
78] <0.001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
9A8 - - - - - - - -
118 - - - - - - - -
18] <0001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.17
38 - - - - - - - -
EDHMIER
IV L
Iz/—L L Ss SEHR | JOOFRIVL| 5 ok
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE - = 2 = = =
xE - - 1 - - -
A o - - " - - -
xE - - 3 - - -
— — 1 — — —
xE - - <1 - - -
118 g — — < — — —
xE - - <1 - - -
A Tem [ - X - - -
xE - - 2 - - -
3
ﬁ q:E _ _ 3 _ _ _
GIEW | BINERTE |,. .
(mg/1) (mg/1) (mg/1)
SEBE] 18000 0.02 0.02
585 =E 18000 - <0.01
hE 18000 - -
78 =E 18000 <0.01 0.02
hE 18000 - -
oF xE 18000 - -
hE 18000 - -
1A =E 18000 - 0.02
hE 17000 - -
18 =E 17000 0.02 0.02
hE 17000 - -
35 xE 18000 - -
B 17000 - -



THRISEE

A L C LK
e BEES — COD#EE! [A(E#EH) ML T EE(ZOMDXE)
" St.4 EX-BED I GGEBR) KFEKEREESE (=)
—iRIEH _
K& (°C)
x | 5B (°C) =E fE 2IKR A Fiin R=Ei:] R
5A| E2vE4Am ]| 254 26.7 26.7 14.0 5.0 BE xf-h mR
7B|2vescmEn| 248 24.2 24.4 13.5 2.5 BE R - mR
9A N 29.4 29.2 28.9 12.5 5.0 BE xf-h mR
118 Fh 21.2 21.9 22.0 13.0 5.5 BE xf-h mR
18 Eh 15.0 13.6 13.5 14.0 9.0 BE xf-h mR
3l =y 8.0 11.0 10.7 14.5 5.0 BE - E;R
4FRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9E (meg/1)|  (mg/1) (mg/1)
%8| 1.8~83] 15LLE | 20LLF | 1000LLF | FEiRH 0351 F_| 0.03LLF
THE(75%IE) - 7.3 1.5(1.6) 2.5 <0.5 0.18 0.019
585 == 8.2 8.2 1.9 = <0.5 0.19 0.022
th & 8.2 8.2 1.6 - - - -
785 =B 8.2 7.5 1.7 0.0 <0.5 0.13 0.014
th & 8.2 7.6 15 - - - -
oF =B 8.2 6.6 2.2 - <0.5 - -
th & 8.3 6.5 1.6 - - - -
18 =B 7.9 7.9 1.6 - <0.5 0.13 0.020
th & 7.9 7.9 0.9 - - - -
18 =B 8.1 7.8 1.1 5.0 <0.5 0.25 0.021
th & 8.1 7.7 1.4 - - - -
35 =B 8.1 5.1 1.3 - <0.5 - -
B 8.1 6.0 1.3 - - - -
BEEE (REBDHEHA)
NP INIESD S ED Aol IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 001LLTF | JE#EH | 0018 F | 005LLF | 001LLF [0.0005LLF | JERRH JERRH |
EfE]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
ooyoni| mie [1,2->200] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | F)S0A
Ay o Iy IFLY OaxTFLY aT4y axT4ay IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




FhS5490nm(1,3-o40 = S ot FARY oo, a8 . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| ELAE{E] 0.01LLF 10.0028LF | 0.006LLF [ 0.003LLF | 0.02LLF | 001LLF | 0.01LLF 10LLF
E{E]  <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.09
5H = = = = = = = =
78| <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
98 - - - - - - - -
118 — — — — — — — —
18] <o0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.16
38 = = = = = = = =
ZTNDIZH
RV L
Jx/—) R SS 2% |(snakiLhA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE - = 2 = = =
=B - - <1 - - -
5ﬁ ;E _ _ 1 — — —
—_ —_ 2 —_ —_ —_
—_ —_ 1 —_ —_ —_
—_ —_ <1 —_ —_ —_
=E - - <1 - - -
A TaE - - G - - -
=E - - <1 - - -
3
Bt | BERE |,,. .
(mg/1) (mg/1) (mg/1)
E¥E] 18000 0.02 0.02
585 == 18000 - <0.01
] 18000 — —
78 == 18000 <0.01 0.01
] 18000 — —
90 == 18000 — —
] 18000 — —
1A == 18000 — 0.02
] 18000 — —
18 == 17000 0.03 0.02
] 18000 — —
35 == 18000 — —
B 18000 — —



THRISEE

A L C L&D KI
5 a3 — COD¥EH! |A(F#BIA) MFULTFEBE(ZFDMDXE)
" St5 EFR-BEY 1 EA) K EREESE (=)
—iRIEH _
K& (°C)
1 X [SsECC) b i £KZE FERE i =18 B
58| 2vescm [ 26.0 26.4 - 9.0 5.0 BE Shkfa-h| &R
7B|2vesamEn| 252 25.2 - 9.0 2.5 BE R - mR
94 B4l 31.6 30.0 — 8.0 4.0 BE BEixf-R]| ER
118 Fh 18.4 22.0 - 8.0 4.5 BE Bz mR
18 Fh 14.4 13.4 - 8.5 6.5 BE Bz me
3l =Y 7.7 9.8 - 8.0 4.0 BE fxfh - ES
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEIE| 78~83| 75LLF | 20LLF | 1000LIF | JEietH 0351 F_| 0.03LLF
THE(75%IE) - 7.8 1.7(1.9) - <0.5 0.16 0.017
58 == 8.2 7.8 1.8 - <0.5 0.12 0.009
hE - - - - - - -
78 EAC] 8.2 7.4 1.0 - <0.5 0.16 0.024
8.3 6.4 15 - <0.5 - -
oA hE - - - - - - -
158 == 8.0 8.1 1.6 - <0.5 0.14 0.014
hE - - - - - - -
18 EAC] 8.1 8.0 1.9 - <0.5 0.21 0.021
8.1 9.3 2.1 - <0.5 - -
38 i = = = — = — —
BEER (RBDHAEHAD
NP INIESD & & Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| ZLEE] 001 F | E#H | 001LLF | 00580 F [ 0.01LLF [0.0005L0TF [ FEHEH JERRH |
EF_EE — — — — — — — —
58 - - - - - - - -
18 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
oroni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
Ay &R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006LLF | 0.03LLF
EF_EE — — — — — — — —
58 - - - - - - - -
18 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




FhS5400(1,3-o40 = . aes FHFHA: N .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| FE#EfE] 0.01LLF (000200 F [ 0.006LLF | 0.003LLF [ 002ELF [ 001LLF [ 001LLF [ 10LF
EF_EjE — — — — — — — —

sA[ - - - - - - - -
Al - - - - - - - -
0B - - - - - - - -
118 - - - - - - — -
1A - E E E E E E E
;1 - - - - - - -
ZOHEE
IT/— V| SS 2T | yOOkILA Tﬁ’_‘_’r,ﬁp
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHME - - 1 - - -
T - - < - - -
5ﬁ ;E _ _ _ _ _ —
—_ —_ 2 —_ —_ —_
7H ;E _ _ _ _ — —
—_ —_ ‘I —_ —_ —_
gﬁ ;E _ _ _ _ — —
—_ —_ <1 —_ —_ —_
—_ —_ <1 —_ —_ —_
Gl - - ! - - -
fi‘r‘*f' iéﬁ%ﬁ Bty
(mg/1) (mg/1) (mg/1)
EBIE] 18000 - 0.02
5 =B 19000 = <0.01
S - :
18000 - 0.02
17000 - -
18000 - 0.01
A e | - -
A %= B 18000 - 0.02
18000 - -
Gl 0 - -



